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close all; clear all; clc;

Lorenz's parameters (chaotic)
Sigma = 10;
beta = 8/3;
rho = 28;

Initial condition
y0=[-8; 8; 27];

% Compute trajectory
dt =0.01;

tspan=[0:dt:4];

Y(:,1)=y0;

yin = yO0;

for i=1l:length(tspan)
time = i*dt;

yout = rk4singlestep(@(t,y)lorenz(t,y,sigma,beta,rho),dt,time,yin);

Y = [Y yout];

yin = yout;
end
PLOLI T (L 2§ .Y 620 ) Y (Bt " D)
hold on

[t,y] = ode45(@(t,y)lorenz(t,y,sigma,beta,rho),tspan,yO)
plet3 (v (3, 1)y (s r20 eyl 3 n"2")

rlfunction yout = rkd4singlestep (fun,dt,t0,y0)

f1 = fun(t0,y0);
% size(fl)

size(y0)
£2 = fun(t0+dt/2,y0+(dt/2)*£fl);
£3 = fun(t0+dt/2,y0+(dt/2)*£2);
f4 = fun(tO+dt,y0+dt*£3);

yout = y0 + (dt/6) * (F1+2*£2+42*£3+£4) ;

end of
l_funct:ion dy = lorenz (t,y,sigma,beta, rho)

dy = [

sigma* (y(2)-y(1));

y (1) * (rho-y(3))-y(2);

y{1)*y(2)-béeta*y(3);
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